D3-F

i} A H BEH |KICK OFF|<wFNO. wHEEH—F BH i Hh =15
1 48208 = | 1100 | 361 [/KRT VS JKiRE B JKRT
i 48208 * | 13:30 | 362 |FEx VS JKiR— B KRT
i 48208 * | 11.00 | 363 |—FH= VS —B¥k-eR| —B™ | —BERE LR
1 48208A| *x | 13:30 | 364 |—RET VS K& —Bmh | —BkEEHE
2 48298| A 11.00 | 365 [—-m@#m-ER VS KRI B iy JKIRT
2 48298 B | 13:30 | 366 |[XE=E VS KiRE B JKRT
2 48298| A 11:00 | 367 |—F8T VS F& —Bm | —BkE R
2 48298| A 13:30 | 368 |—Ri— VS JKiR— —Bm | —BkEEEHE
3 5838| %€ | 11.00 | 369 |/KiR— VS —EEm-es| BT JKIRT
3 53| & | 1330 | 370 |/kRIT VS K& B JKIRT
3 5838 & | 11:00 | 371 |FE& VS KiRE —Bm | —BkEERE
3 5838 & | 1330 | 372 |—B§— vsS —HT —Bm | —BAkEERE
4 58118 £ | 11:00 | 373 [/kiR— VS JKRT B JKIRT
4 5811H| L | 1330 | 374 |[—@= VS KRE B8 JKIRT
4 5811H| £ | 11:00 | 375 [—@T VS —E#k-ER| BT [KRYDRKR—Y
4 58118| £+ | 13:30 | 376 [T VS K& BN | KRYRBR—Y
5 5818A| L | 11:00 | 377 [/KRT VS F% B KRT
5 5H18H| * | 13:30 | 378 |-mam-#R VS KRE BLJi JKIRT
5 5818A| £ | 11:00 | 379 |[—RH—= VS K& —Bmh —BE=
5 58180 £ | 13:30 | 380 [—RET VS JKiR— —Bh —B=
6 68228 * | 11:00 | 381 |[—fET VS JKRT B [KRYRER—Y
6 6H228| X+ | 13:30 | 382 [/KiR— VS KiRE B (KRG RER—Y
6 6H228| £ | 11.00 | 383 |—R§— VS T — B —F=
6 6H22H| * 13:30 | 384 | KE VS —Bxr-er| —RAH —Bi=
7 68298 L | 11.00 | 385 [/KRIT VS —B= By JKRT
7 68290 L | 13:30 | 386 |—RET VS KRB B v JKIRT
7 68290 L | 11:00 | 387 |/KkiR— VS K& —B™ | —BEEHRE
7 6H8298| £ | 13:30 | 388 |FJ% VS —mxm-eR| —BEH | —BEELEFRRR
8 786H| * | 11.00 | 389 [/KiRE VS JKRI By JKRT
8 786B| L | 13:30 | 390 [/KiR— VS FE B KRT
8 786B| L | 11:00 | 391 [K=E VS —BiT — B —B=
8 786H| + | 13:30 | 392 |—m¥m-iER VS —EA— —PBimh —=
9 7H138| * | 11:00 | 393 [/kKRIT VS —MEmk-es| BT JKRT
9 78138 £ | 13:30 | 394 |/KR— vs —F= B JKIRT
9 78138 L | 11:.00 | 395 |FJEk VS —T BT (KR RE—Y
9 78138 £ | 13:30 | 396 [/KiRE VS K& BT [KRYRE—Y
10 78208 = | 11:00 | 397 |[—FT VS —B§= —h —F=
10 78208 £ | 13:30 | 398 | K& VS KiRT —Bih —B=
10 78208 L | 11.00 | 399 |—-m#m-tx VS KiR— B (KR RR—Y
10 78208 * | 13:30 | 400 [/KRE VS FE& B | KRY U RR—Y
11 8g108| L | 11:00 | 401 [/KRT VS JKR— B JKIRT
11 8H10H| X | 13:30 | 402 [/KiRE vsS —f= B JKIRT
1 8H10H| L | 11.00 | 403 |[XE VS T —Bm | —BRkEERE
11 g8H10H| £ | 13:30 | 404 |—m%#m-t® VS —RiT —Bih | —BREEFRER
12 8H24H| L | 11:.00 | 405 [FJE& VS KiRT —EHh —B=
12 8H24H| X | 13:30 | 406 |[XE vS —f= —Bmh —BE=
12 8H24H| X | 11:.00 | 407 [/KiR— VS —BT B (KR RER—Y
12 8H248| £ | 13:30 | 408 |/KRE VS —mgm-g| B [AKRYURE—Y
13 98218 * [ 11:00 [ 409 [/KiRE VS JKiR— G IKRE
13 9821H| * | 1330 | 410 |/KRT Vs —BET BLJi JKIRE
13 9218 £ | 11:00 | 411 |[FE& VS —B§— —Bh —F=
13 98218| £ | 13:30 | 412 |—M¥m-t% VS KB —Bh —B=
14 9F28H| £ | 11:.00 | 413 [—FH= VS KiRT —Bm | —BkE LR
14 9H28H| L | 13:30 | 414 [/KRE vS —BT —Bath | —FARE L EEE
14 9H28H| L | 11:00 | 415 |-Exm-tR VS FE& —Bth |KRY U RR—Y
14 9H288| £ | 13:30 | 416 | KE VS JKR— —BH KR RER—Y




